[[normalized x? probability ]

Entries
Mean

: [Enties
+_ | Mean
Std Dev

” Lstd ev 0.3276

ntries
fean
td Dev

Entries
Mean

92 4 6 8 10 12 14 16 18 20
2

nalvector_Toooevr
[( evt
cpe‘OK 100
cpeOK_SORTRZZ 1000evt
cpeOK—SORTRZ2_TESTOUTLIER3_1000evt
A = 5
e S i :
© -~ ol 5
S Ao AE i F
% 2 g ; :
v o i 3
o 2 ! !
\ i t
0 : -
_ ﬂ“ 3
-2 -
_3 l-
—4F- ¥ E.
o o -5 . u -
2 = ITE] IIII
@ i | [
i
0.5 !
I :
0 ! L | Ll .
= -2 = 1 2 3
TP n (PCA to beamline)
A N
- -
el ©
c c
fy =
B} N
> >
\% \%
iel 2
I T
14 @
107 1072 107t
AR(track, jet
5
S5 o
A
=
[=%
-
o
o 1"
Vv

107 1 10 10% 0?
B



	Contents
	Page 1


